( SPORT BIOMECHANICS )
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Abduction = g Sle s 31 ol 59

Abnormal = b ué

Absolute angle = ol 45913 — llac 4 913

Absolute threshold = ltae 4t

Absorb= ys ¢ o>

Abstract = o>

Abundance = ab 3 yluade

Acceleration = ok
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Acceleration = ok

Acquiring = o8 & Slus’f




Action potential = _foe _fuiliy

Active = J

Adduction= gw e b 4 O K F

Adequate = cwlw— S

Adequate = cwlw— S

Adjacent = y9lxo

Adjustment = (&3 3w — o

Agonist = 33190

Air Resistance = 1ga cwglao

Alertness= (s lia

Alternately = bglio — 9l yab 4




Alternating= o gbxe

Altitude = g,

Amount= lude

Analysis = jusei — 4 x5

Anatomical reference position = KwgibT x> y0 Cuxdgo

Angle = a4 913

Angle of attack = 3,95 » w913

Angle of projection = 4915 & b

Angular = a9l

Angular acceleration = s 4913 Sk

Angular displacement = sl 4913 2bmul>




Angular impulse= s 443 4

Angular momentum = (gl 41513 o5 o o3Il

Angular momentum = (sl 4913 4G — &l 491y O >

Angular motion = &l 4913 o5 >

Angular velocity = (g 451 o

anisotropic = &g Oluwosl

Anomalous = b wé

Antagonist = (e

Antagonist = _dflke

Anteroposterior axis = s —  olud 90

Anthropometric olul Gw 18 (& w5 031l b 4 4y




Apex = 4915 wly— 9!

Arrangemen = i y — S

Artificial = Sl — g0

ASSESS= 3w

Assumption = ygai — 4o

Attachment = Jlait

Attract = po 5 o

Attractive = Cli>

Automatic reflex = ;345 b 34

Average = Sl




Axial = ygomo 38 2819 — (53950

AXis = y90

Axis of rotation = s > j95%

Balance = y3lgé

Balance = ol

Base of support = ST gtaw

Base of support = ol 4.5 — (G ztaw

Bicycle ergometer = giw I 45 293




Bilaminar = 44 95— aziga

Biomechanics = «Cilo gu

Body or shaft = 45 b 4w

Body weight=ows 039

Bone atrophy = &l gsuiw! ko

Bone hypertrophy = Jlgsu! 395 mbd

Breakdown = bl ji” 31 - fulox

Broad= g s — 08 yus

Bulk = suwe cwowd

Buoyancy = (s 9l
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Capabilities = (gl — lgu bl

Capacity= cué &

Cardinal planes = ol Okxio

Center of mass = & ¥ s

Center of mass(mass centroid, center of gravity) =(_& 3 s ) pua 3 50

Central tendency = 3 s ! 5

Centrifugal force = 3 y 3l 3 5 9

Centripetal acceleration = 1§ 3 w0 Ol

Centripetal force = 1,5 % » &9

Centripetal force = 15 3 50 (&9




Change = g3 ¢ i

Characteristics= . 339

Circumference = 395 — taxo

Coefficient of friction = &Kol o yo

Coefficient of restitution = cale! s yo

Column = g

Combined loading = cus” § (& 105 54

Complex skill = ooz < 5lgo

Complexity = S ouzm — (S slgwd

Complication = o ylse

Components = b 4dfg0 — 1321

@IranSportsSciences

10




Compression = o515 — 5Lid

Compressive strength = jLié (59

Compromise = ¢y e — NS |

Concentric contraction = 1§ 958 _plail

Concentric contraction = 1§ &85 Wlolas!

Conflict = _is

Conform = wilod —dmi

Confounding variables = p>130 (S wiio

Consecutive = md pw Culy — (Jlgio

Constant acceleration = cob ot

Contact = _wled — 5595




Content= _fol& — lg30 — 1o

Contractile component = oLl

Controversial = 3,51 y S

Conversion = o

Cortical bone = (5550 b O gouin!

Couple = ol ci>

Crack = 4539y — SIS

Criteria = b &

Crowbar = b

Crucial = Jl>— 1950

Cue = 4l& - cwMe




Current state = Jg curog— IS Cuxrdy

Curve = g

Curvilinear = gsue balas (s151s

Cylindrical= (s 4 giw!

Deficiency = ogus”

Deformation = s

Degree= a> 38 - Ol — O

Dense= JK>— o515

Density = J&> — o515

Dependence =  _SKiulg




Dependent variable = diusly wiio

Deprivation = cuwog yxo

Dislocating component = obul> 4ig0

Disorder = Mz

Displacement = oo g

Displacement = s kul>

Display = ¢sals ol — 818 Fwly

Dissipate = ya 5 s

Distance traveled = cul bol> cdlw

Distinguish = oals auseii — 818 jamed

Distribution of practice = :y y5 &34




Disturbance = M- cwslj0

Diversity = Je5 g5 — £o

Dominant = _J&

Duplicate = &8 5 el

Duration = &uw

Dynamic =l g

Dynamic equilibrium (D’Alembert’s principle) = bLgs Jow

Dynamics = .8 o <Silko — gwbid b

Eccentric contraction = 1,59y sl _oLail

Electromechanical delay = (5 w6 31 5 ga0 431




Endure = - gifs Sl — dls oo

Environment= tuox

Epiphysis = 3138 b Ol gl tawg

Equal = sglw — g

Equilibrium = Jaks

Equilibrium = Jaks

Escalate = oyod wuis

Excessive = v 3 gw— &3b3— b0

Exertion = 45 jLid — csew Hl5

Expectancy = s

Extension = oo 8 36— 03597 el




External rotation = =, s =

Fast twitch fiber = = w sl ;6 (ft)

Fault = cue — Lo — bas

Favourable = wgliae

Feet per second = 4t ya b

Fertility = 9,

Field = das — 039> — Olowe

First class lever = Jof £4i p !

Fist = 050 5 caie

Fixed practice = cobi oy i




Flat bones = ;g S O gl

Flexion = (3,576 — (3,97 Y

Floating =gt

Flourish = yge— 39

Force arm = g 693k — & yx0 (593

Force couple = gy g >

Foreign matter = =& ool

Forever = 4w Sl g— 0510

Formal = oow

Foundation = sba — bl — 4

Fracture = _Suwss




Free —falling = o137 Laaw

free body diagram = 13T s 513405

Frequency =, 5

Frequent = o pw by — gl

Friction = &5 Ktrof

Friction = &5 (Kto!

Frontal plane = Jig $ axie

Fulcrum = (51 daii — o5 45

Fulcrum = p ol — Joki dkadi — ST alads

Function= s ¢ ;i




General motion = sl o5 >

Generation = wJg

Glide forward = gl> 4 03,85

Gravitational pull = &f 43l> sis &9 mw

Gravity = 43l> 89w — J& $9 w

GRF= (o) Jodl ke (59 g

Guideline = _foa! ygauwsd

Habitual = i — sk

Hardcore = W $ cdlb — wud

Homeostasis = Jls Joli




Horizontal abduction = a8 ol 59

Horizontal adduction = 881 oyul &O o3

Hypobaric chambers = b LS s9l> sla <ELT

Impact = 8,95 9 — Wl

Impart = slawd — 4 O

Impulse = 4 $315 6 1S — H818 YIS — 4 o

Inactive = Jké ué

Incentive = @i — o 35

Incentive = @gio — 6 3551 — @il — 0 ;SIS




Independence = Kiuly puas — Ilail

Independent variable = faiuw puiio

Indicator = a5l

Indolence = i — (i

Inertia = Hygkw— p>

Inertial force = w ! (S9mw— 5 (69

Influx= L&l — 8L Ob =

INhibit = $8 & (s el — U3 8 &1k

Initial velocity = 4Jgl o g

Innovative = alefuyl — (& <!

Input variable = 65939 o




Insertion = &5 pxio g

Instant center = (5 3 y dbold

Instantaneous = s,¢é — ST

Intelligence = _uga

Intensity = &uwé

Interaction = _fols

Interchangeably = oo soliiw! pd Sl 49— 4oglro B

Internal rotation = J&1s 4s =

Interplay = s o 9 — plito W36

Interval = ol

Interval = ol




Interview = 4>l

Intracellular pressure = Jokw 0938 HLid

Intrapersonal = (g3 $ (59,9

Irregular bones = wlainb Sy O g

Irrelevant = g wbi

Isolate = (8 ¢ 4 35 — O 7 &CKES

Isometric contraction = Jeb o b pLail

Isotonic contraction = i o _plail

Jogging = @ w sy ol




Kinematics = qwbid guis> — &5 min pluc| ple

Kinematics = &5 pxio plus! ple

Kinesiology = (wbi o5 >

Kinetic energy = Jiwe &3

Kinetic friction = s <Kol

Kinetics = owbid s>

Kinetics = wbi i

Lap = el Jobo <O

Lateralization = il> ¢

Laws of constant acceleration = ool Ol  wilgd




Length= Jeb

Lever = p !

Lever = p af

Leverage = o !

Limb = gae

Linear motion = s o5

Load — bearing exercise = 439 b ¢y yoi

Load = cwglic

Long bones = 3135 sk &l gt

Longitudinal axis = Jsb 90




Magnitude = o3lwl— ylude

Magnitude = o3ll — ylade

Mass = px> - p > — 009

Massed practice = ogul ¢y yoi

Massed practice = ogul ¢y yoi — 39w 33y

Maximum static friction = «Citu! &5 Ilo! g5 10>

Mechanical advantage = Silo v 30

Mechanics = «Gilko le

Midline = e &

Midway = tawg




Milder =y Mo

Mimic = oo 5 wulas

Minor = Caés — < g8

Mobility = &5 i

Moderate —intensity exercise = tawgio Sl b oy pod

Modification = x5 — &Mef

Moment arm = &~ =0 (593U

Moment of inertia = (g 4asx) _w g

Momentum = o

Momentum = =5 y> o 31!

Motion= o5 >




Motionless = «s > 2 —

Motivation = o 35

Motor unit = 35 > a9

Movable bones = &5 e 4l — &5 pxin oo

Multiply = g8 ¢ @0

Muscular power = JMas Olgs

Myoelectric activity = <G gl g0 Culled

Narrow= o & o — 3945 o

Nasty = Corw —

Net force = Il (59w




Net force = &t 9w — (A S9 w

Neutralizer = suiis™ Jis

Noisy = < 35l

Normal reaction force = b foad! (e (59

Novice = (g

Null hypothesis= e 42

Observer = suis” sualin — § sualio

Opposing = ko — plao

Origin =sfaw — cull g

Osteoblasts = casdly gl




Osteoclasts = cu yils” gi!

Osteoporosis = ofgsuu! 5 g3

Outcome variable = 4z puiio

Outset = £9 4% 37T — fowf

OVer power = (s dakuo — 08 5 4dé

Overload principle = ;b 4Lo! Lof

Overtraining = s yoi _gw

Oxygen debt = & 51 plg

Parallel = (53140




Parallel elastic component = luis™ (s> 4 g0

Parallel fiber arrangement = (s3g0 (S 318 p i §

Peers = oYluod

Pennate fiber arrangement = sy S 4g0 i §

Percent = wo o

Perfect = ol — wg5— Jbe

Perfectly elastic impact = ylo _is™ Mol™ b 4o

Perfectly plastic impact = p  Yols™ Ob 4o

Performance = » Xoe

Performance curve = (o s

Periosteum = ulgstin! o po




Perpendicular= gagoe — 3908

Phase = 4> 4

Physiological changes = K jglgs 38 <1 s

Piece = s o — v

Pivot = yg

Pivotal = (5 y9xe

Platform = axéso — ¢<u

Playmates = & (s jlwoa

Plentiful = ab3— ofsf

Potential energy = _Lwily (53 5!

Power = &0




Power output = olgs o83l

Power = ulg

Powerful = ab 3 ylww

Praise = _sfal

Precaution = bla>|

Preliminary = adgl— glawl— Jlbade

Pressure = L3

Primary = el — 4J9f

Principle = _Lof

Probability = _fleis!

Problem solving = 4w >




Procedure = 495— %95

Process= w!

Projectile = 4t »

Projection speed = e yw poai — o g & yb

Pronation = Cde 4 95 cuwd &5 58 5 51 8

Prone = uxiw

Protective = ks

Protocol = s 03 4ol g

Purpose = Gua

Push —up = w03 (59, b




Qualitative = s

Quality = s

Quantitative = (& lad0 — 08

Quantity = s

Radial acceleration = ki obki

Radian = o p15 wed (53 w0 4 9135ba1,

Radius of gyration = s > &l

Radius of rotation = s > gk

Range = 3guo— & 3 — 0dg9uxe

Range = awla




Range of motion = 5 > 4ild

Range of movement = =& o 4wld

Reaction board = 4 _jasly 9

Reaction time = oIl ke Oboj— 519 Ok

Rebellion = Sl #$6

Rectilinear = gt b 33 06Uk g — adiws g0 (51510

Rectilinear = tasd! padiue

Reduction= _jal”

Redundant = gud 51 55 8

Reference = x> y— jbxe




Relative angle = owi 4913

Relative projection height = s glai sl & 4

Relative velocity = o o g

Relocation = oo &

Repetition = 41 &

Repetitive loading

Reproduce = ua 5 slw! 0)b9d — dicxo Mg

Resist = &0 5 cwglio

Resist= ablio

Resistance = cwglic

Resistance = cwylic




Resistance arm = pglio (593b

Resistance force = pglac (59 w

Resistive force = pglao (59

Resting potential = cof gl Jamili

Restless = o1 gl 2

Restriction = s d9uxe

Resultant = g

Revolution = ;98— s

Right hand rule = cwly cws ouscl

Rigid = oo — Caw

Rigorously = wui b




Roll —over = guuale

rotary component = _is y> (st 4ifge

Sagittal = oogw

Sagittal plane Jtusls axio

Scalar = goue — Jbay

Scalar = gl oa ¢

Score = jLaof

Screening = a5 Jb & — 00 5 ol

Second — class lever = pga £4i p jaf

Second class lever = pga £4i p st




Seesaw = <KUY

Segmental method = (&f 4 x5 %9

Self —govern = yls 5 8¢5 — Hlicwe 395

Self —study = (53901 395

Separate = _fakuo — I 3x0

Series elastic component = Jluis™ (S ddlgo 31 (S g <K

Servo — mechanism = J 5™ 345 517 95lw— 3b Olo 8 puilso

Session = 4ul>

Set = cug

Severe = Corw — Nl

Severity = &ud




Shear = oals BILs — O ¢

Shock = 4,0

Short bone = ol g5 (Sl g

Side way = 4 b <O — 4 g K

Sit —and — reach test = lal 4 b Cwd Otiluy § cyumii G031

Skill transfer = & lgo !

Slight = i — S g — o5 — 326

Slow twitch fiber = yud JleF6 uis™ b dudl o8 >

Soft=p 4

Softening = yud pi— O Ol9)

Sole=b -




Solid = ael>

Solitary = 4S5 — (g — =0

Sort=ocg5 — &g

Span = awls — sl

Special = ogaso— 059

Specific weight = o gt 039

Speed = e g

Sports medicine = 39— Kb

Spread = 5L o g™

Stabalizing component = (5;lwb (S 4alige

Stability = gl — Jobs




Stabilizer = ouis™ s

State = Lu!

Static = !

Static equilibrium = eCitu! ol

Static strength = ksl & yud

Statics = 3l plus! Eomo — (wliss b !

Stationary = &5 pmin wé — calbl

Statistics = 4T

Steady — state = 14 Curdg— bl >

Steady pace = o1 o g

Stiffness = aw




Stiffness= s —  idw

Straight = gituwe — Sl

Straighten = 08 5 Blo b il

Strain = _gds

Strain = U — g

Strain energy = _luis™ (3!

Strength = &0

Stress fracture = (gl ol i £

Stress = ,Lid

Stress= s

Stretch reflex = _iis™ b 3b




stretch-shortening cycle = _ds™ ool oligs

Strike = 0o 5 culol— 0o 5 395 ¢

Strong = 598

Structure= bl

Subject = Joge 3T

Substance= sabk

Superficial =

Supinate = wel (> ) SN >

Supination = ( SwgbT cuxog) gl 419 Cawd S o5 5 415

Supplement= _foo — JuosG

Swing = ya,95 S6




Takeoff surface = 39 y gdaw — Ol o aw

Tangential acceleration = (of aasd Slid — wlow Sl

Taper= gus &b

Teamwork = o b

Tendency = il & — bl

Tensile strength = iis™ 59

Tension = _gds” — L — o

Tension = i

Tension = i

Terrain =




Tetanus = s — geiid

Theme = gqo90

Third —class lever = pguw &4 p 21

Third class lever = pgw £45 p

Tilt= e

Time — consuming = 45 =dg

Torque = gy Hgluis”

Torsion = gz

Trabecular bone = <& (o1 g8 (sl Ol gt

Trajectory = pw &

Transducers = . _fowe
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Translation = J&l o5 &

Translator = st

Transverse axis = oo % 9%

Transverse plane = o s 4xio

Treadmill= u1s & g5

Trial to trial = _fdgs 4 dgs”

Tripping effect = _& @ 41

Trunk = &5

Trunk= 43




Unaid = «Xos™ g9en

Unconstrained = codgusme 9 —Xivg wd 2

Undoubtedly = <& o9

Unit of time = ybj w19

Unstable = ol o

Unwanted movement = 4wlgsb o5 >

Value = %3, — slaée

Variable = puiio

oo
fooee

Variable practice = o oy yo
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Variable= i

o

Variation = yu

Variation = yu

Vector = 1o »

Vector =,la

Vector composition = (515 » sl 4dlge

Vector resolution = (51 y zei

Velocity = (gui— bl — o g

Velocity = (&118 g o g — (AT

Via= & b 3

Voice = lue
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Volume = wx>

Voluntary= g lis1— gal,l

Wasted = & 5" Ggus — 48 jus — Wil )

Wave = zgo

Weakness= Liro

Weight = &39

Weight force = &39 59w

Wheelbarrow = ws ¢ 2 — &8

Will=oa1
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